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QUESTION 1

Click the Exhibit button. 

(missing the Exhibit) 

Referring to the exhibit, what is a valid storage failover scenario? 

A. Node 1 fails and Node 2 takes over Node 1\\'s storage. 

B. Node 2 fails and Node 3 takes over Node 2\\'s storage. 

C. Node 3 fails and Node 1 takes over Node 3\\'s storage. 

D. Node 4 fails and Node 2 takes over Node 4\\'s storage. 

Correct Answer: A 

 

QUESTION 2

Which three data protocols are supported simultaneously in a single storage virtual machine (SVM)? (Choose three.) 

A. InfiniBand 

B. CIFS 

C. iSCSI 

D. HTTP 

E. FCP 

Correct Answer: BCE 

 

QUESTION 3

Click the Exhibit button. 

The source SVM vs1 has 50 CIFS shares, 100 NFS export policies, and four data LIFs. 

Referring to the SVM disaster recovery output shown in the exhibit, which two statements are true? (Choose two.) 
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A. CIFS shares and NFS export policies are not migrated from the source to the destination. 

B. LIFs are not migrated from the source to the destination. 

C. CIFS shares and NFS export policies are migrated from the source to the destination. 

D. LIFs are migrated from the source to the destination. 

Correct Answer: BD 

 

QUESTION 4

Click the Exhibit button. 

After you successfully deploy cluster CDOT93, you log in to System Manager and notice the error shown in the exhibit. 

Which command must you use to correct the error? 

A. storage failover giveback ?node CDOT93-01 

B. storage failover modify ?node * -enabled false 

C. storage failover giveback ?node CDOT93-02 

D. storage failover modify ?node * -enabled true 

Correct Answer: D 
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QUESTION 5

On which two types of ports would data LIFs be hosted? (Choose two.) 

A. physical ports or interface groups that host VLANs 

B. physical ports that are not part of interface groups 

C. console RJ45 port 

D. management e0M port 

Correct Answer: AB 
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